1. (20pts) Find an equation describing the plane containing the line (0,1,3) + ¢(1,1,1)
and the point (0,0, 0).
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9. Let T'= (1;2:5) and U = (3.2, 0
(a) (10pts) Find the angle between u and v [express it as arccos(. . .)]:

(b) (10pts) Find a unit vector perpendicular to both v and u
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3. Let a = (1,1,0) and b= (2,2,2).
(a) (10pts) Find a vector or parametric equation for the line going through a and b.

(b) (10pts) Find the point where this line intersect the plane P whose equation is
rt+y+z=4

(c) (5pts) Does the plane P intersect the line segment between a and b7 7/ 5 /(/
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4. (48pts) Match the surfaces described by the following equations with their drawings.

Justify your answers. . ’ 5

(a) (15pts) 22 — 2% — 5z =0 “ A= Ry ® L.
(b) (15pts) z = —log(z? + 5y°) “
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s e 1 . gem;'ax‘“"
I B AR U DO A AR I )
e )
12=0 Q = XJN‘\ SU\;‘ - v -akes ® 4 X \’.‘%. \ X

» v % -

= IS .3 )
z=-\ 10 - X ‘T‘D"] - l = —[)so— + % -) Sé‘n’\l—a\)\((f'\ *B o
' Aalo X ‘$

LeiZ wS z = oo, g,L(,.,'Pse

W‘ Yl’\"au.i.r
== X
L_\\__._‘_/f/,/ Cf 79 -ta, %‘P‘-E Wg
A i . -
t f/l'? Ycat’-‘ 7&( warcew [mraca,br
no
i -
X oy

: =3 \n lool thos s Hu (tabmo,fh(n-\ of a kwrhl«

T odoes mot  vontain 4, 3o af ol youalus,

By onk it ochodd SRl havwe e came  Curvt, Wle 1S
(el cMert vl The Pwﬁgol‘il N‘D‘k"r\% it = aauwtx, [)araUJ b jwcx.'r.
alwa‘ar ke L\W{J’b L{c C%-QDLW\ .

2% 2= 3

50 The Oa/r‘a,"llf\ LS lDf .




T s

R RET

s
(i ns

/

oI
iy ‘\::-\.-‘\
b
R
<5 }‘.\“\“;“»‘
SO

LA e
& "‘6 “v"“‘ﬁe“%
OAEOARAIENY
o

X

e
e

5 3

e

A
e '-".\‘:}'.g.- ¥

s

i

>
Y >

£
w SIEEREAAY
.3‘3:;;\};‘:1 'ﬁ\l“‘ %?




